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N=El) 12 16 17 33|y 2HT 90 143 153 296|#H_-_TH 99 115 149 264 | BLET 112 137 123 260|= EEAT 35 73 66 139
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NVES it 212 231 252 483|/]n LHET 21 36 36 2|0 —TH 147 193 197 30| FEE-TH 17 149 179 328|ILEEATH 84 135 144 279
$TEET 465 674 728| 1,402 LAREFET 62 87 93 180| R =TH 201 301 326 627(EEHT 95 149 123 272(lLEBATH 11 172 165 337
R HT 17 22 18 40|+ EFET 68 97 86 1834t A ET 93 111 130 241|PEMX 5t 2015| 2,696 2748 5444|USHX 5t 1,045 1,536 1,673 3,209
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JtEAR6X 188 249 234 483|= {RET 123 159 208 367|= JKHET 439 634 592 1,226|#3IF=TH 56 81 74 155| FHREBERTH 137 164 166 330
EXTBE=TH 145 178 172 350| LSRR 9 13 15 28|'= K T ET 396 541 564| 1,105|#F1F=TH 67 94 103 197| FREBATH 136 182 200 382
H=2—TH 83 105 105 210|EHRE 10 15 17 32|12 HEHT 43 69 78 147|#FIFETH 101 139 134 273| FREBLTH 174 238 261 499
EE_TH 101 120 145 265|FHX 9 13 13 26| = K HTET 63 94 111 205|AF(ZETH 66 95 94 189 FREFFE/NTE 118 144 157 301
EFB=TH 97 111 134 2453k ALBT 40 54 71 125 FT R ET 36 56 51 107|A 9 (EARTH 69 84 87 1| FREE—TH 107 153 159 312
Am—TH 94 107 122 229+ ERHAT 20 31 30 61(/\EH T 49 72 81 153|@&iE—TH 94 144 134 278| FHREHEM_-TH 144 217 215 432
AH_TH 114 151 190 341|711 BT 41 58 71 129|/\ EHET 17 185 197 382|#E=—TH 57 78 81 159| THUEFHIX 5t | 2,144| 2,910 3,015 5,925
Hi5—TH 74 86 100 186| L/ I1ET 37 42 64 106|—1xHET 59 70 81 151 |MPHIX 5t 1,410[ 2,044 2076| 4,120|44ET 110 138 158 296
EB-TH 110 157 141 298| 2 FAHET 32 39 48 87|&ERET 155 220 245 465 |15 THT 374 522 499 1,021 (Z#aHT 94 116 124 240
#E—TH 126 142 160 302| = {R#THET 100 166 169 335|HEARMX 368 535 497|  1,032|FBEHRT 105 160 166 326 | FaAHET 94 128 121 249
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=) ET e 38 40 45 85|/ \EHET 144 177 210 387|R R AT 17 165 178 3433 BT 25 FEl 44 67 86 153 [ #ERT 46 71 75 146
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EJNE i) 35 31 44 T5|EBRABT=TH 40 61 7 132| &% FHT 113 164 164 3283 N ETHR B 18 21 18 39| B =HET 65 86 101 187
Z)ISHETR 150 189 219 408 |#BRAETIM T B 188|  254| 264 518| & AW HT 155 231 244 475 |AT BT 48 5 4 3 7| Bl T 18 27 28 55
EJNE:ESr 45 47 56 103|#B 3k A A BT 157 179 221 400| EAETHT 96 151 163 314|AINET T 7 3 2 1 3| R FRET 49 50 46 96
EJNE:ES 73 109 107 216|E5E B IR AT 111 138 141 279 | BAEFHTHT 81 95 105 200(;AINETHZ 21 23 23 4618 FFIKET 27 36 43 79
EJNP o) 84 95 124 219|583k L AT 35 40 43 83| &R AEHT 90 118 110 228|5UAMhIE 5§ 392 531 596|  1,127|=mT 18 21 27 48
=)IERTER 102 138 135 273|#83K T SRHAET 31 34 42 76| = S FHET 311 441 426 867| F&EE 63 87 95 182| - FET 15 14 13 27
EJNEIN:r] 40 47 56 103|883k A& 36 51 51 102| #7508 A E BT 34 45 36 81| LHEH 97 103 139 242| =V #ERT 5 1 4 5
EJNEINIES 84 90 94 184|#8k &0 ~F BT 177 219 250 469| MIMIX  Ft 2,107 3,020| 3,103 6,123|BK%E DM 54 81 71 152 |4k AHT 3 3 2 5
= )IFRETEE 191 273 284 557 |88k & T 85 103 125 228| B BT 177 260 290 550[{ B 18 36 37 73| Bl FET 11 10 11 21
EJNEF LIS 220 265 294 559 |#& 3 7K P BT 32 36 43 79| O HET 127 185 217 402| KFHE 12 0 12 12| B+ 58T 0 0 0 0
E)|IX 5t 1,605 2041| 2250 4291|%&k KERT 210  264| 274 538| KT HET 51 81 80 161|385% 37 26 42 68| RET 2 2 0 2
REfT 286| 372| 415 787 |#5k X E FEET 70 115 118 233(BRE S AT 19 26 32 58| R 37 61 50 11| By 0 0 0 0
FHRET 254 323 343 666 (5K KFET—TH 7 10 12 22(4THT 51 82 88 170| T KB 25 44 42 86| 4H;EHT 23 31 49 80
FBEHET 37 54 60 14|88k KFRT=T B 61 87 104 191| e /4B T 42 66 79 145| L KR8 26 33 34 67|25 KET 44 53 65 118
RIERT 43 70 66 136|#BsE/KFRTIE T B 29 37 38 75| REFET 65 84 73 157| Ki8%# 11 16 16 32| TEHAHE 62 86 101 187
Ak ET 142|  238] 223 461 [#83E B & HET 29 40 51 91|t RET 49 72 80 152|dh e 53 51 57 108| L A HT 44 56 68 124
ESET 273 367 406 T73| BRI Bt 1,559 1,982 2179|  4,161|4EKHET 21 30 35 65| SH S 5t 433 538 595  1,133|7H{E BRHAT 34 59 53 112
S jth BT 76 109 119 228| A ¥EHT 237 358 390 748| B It 293| 396 418 814 =VERHE 54 87 107 194
Roy)ifi g 239| 315 346 661 [/INNET 184  244| 268 512(ERFHET 152| 208 231 439 SR L ET 45 68 79 147
HEHET 309 430 455 885|BAX_TH 156 211 203 414|E5RZ BT 204 282 291 573 [IN:iloa 5108 5 5 6 11
BESET 15 16 24 40(/NEVER BT 79 109 125 234 R HRHTHET 151 223 215 438 J4SHE 19 27 17 44
BB 129 224 212 436| B #H1F-HT 251 356 390 746 |/ SERETET 11 20 14 34 SHtiE § 963| 1,358| 1,508 2,866
EBTHR 115 184| 202 386 (BASETIL/E 45 54 64 1183 QAT 52 86 90 176 B 60 66 81 147
BESFH 116 200 189 389|BHSHTEH /K 22 33 34 67|45 AR FET 135 209 209 418 EL 7 7 4 11
IREX § 2,034| 2,902 3,060 5962|BEETHKf 47 74 73 147(8BBHX  § 1,600[ 2310 2442| 4,752 R 79 95 115 210
EET1X 52 75 75 150|BA S BT /41 34 52 56 108 xR 33 29 47 76
EE2X 49 55 79 134|&/ AR FET 28 40 37 77| EBRiMhIE, § 7,902| 11,136| 11,613 22,749 ®=0O 24 22 23 45
EESR 43 50 60 110|BA S & BT 84 143 131 274 R 8 7 6 13
EATAX 47 53 75 128| L #& S ET 51 78 75 153 L 1 2 1 3
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EET6X 153 183 191 374|ZEEHT 165 252 219 471 EOiths 5t 238 263 313 576
EET7 X 36 59 54 3| FHFESEHET 223 331 304 635 =13 275 370 375 745
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